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(ihﬁ? (4R 24) 6 FERM 7 EEDER 6 EERM TEREDER 6 EERME TEREDER 6 EERME TEEDER 6 EERM TEEDER 6 EEEM TEEDER 6 EEEM TEEDER
(ha) (AT EAE) (ha) (AT EAE) (ha) (AT EAE) (ha) (AT EAE) (ha) [Esp:0g:3=579) (ha) (XA EAE) (ha) (XA EAE)
#WEM 2,055 g 4 - 4 - 0 2 137 - 83 - 6 N 31 N
fE i 30 - - - - - - - - - - - - - - -
wET 54 - - - - - - - - - - - - - 0 N
W 32 - - - - - - - - - - - - - - -
E3- 1] 157 g - - - - - - - - 8 2 - - - -
JEEH 37 - - - - - - - - - - - 0 - 0 Y
=@M 1,088 7 47 - 20 - - - - - 33 \ 23 \ 34 \
4 )IIEr 161 ” - - - - - - - - _ _ 0 p P
BAEM 265 - - - - - 0 - - - 0 \ - - 0 \
i 991 7 7 M - - - - 1 v 27 2 159 v 7
=10 93 \ - - - - - - - - 4 N - - 2 \
FESEHT 751 7 9 - - - 2 - 27 \ 34 - 207 - 16 -
FEEEET 18 \ - - - - - - - - - - - - 0 -
Ficlishin) 621 7 1 - 22 - 1 v 3 - - - 47 \ 25 \
=K 1,744 7 2 - 61 - 4 - 13 \ 1 Y 0 \ 45 \
INEFTH 1,263 - 57 - 14 - 1 - 22 - 2 - 54 - 29 \
hneET 1,850 7 60 7 18 \ 6 \ 114 \ 46 7 276 \ 59 \
R 1,566 7 44 M 44 M 1 v 7 v 1 v 105 7 34 7
% wJHT 754 2 6 N 25 v 6 N 10 v 15 7 2 N 90 N
IR 1,634 2 9 7 - - 2 - 82 N 4 7 190 N 41 N
AT ET 332 2 - - - - - - - - 5 Y 161 \ 23 \
I ET 353 2 9 7 - - - 36 v 2 N 102 v 25 N
2 I ET 311 7 - - - - - - 7 N - - 81 v 4 N
HET 154 2 3 7 - - - - 12 v 12 7 30 7 35 N
T 346 \ \ - - - - 25 \ 42 \ 40 7 22 7
L ERHET 376 2 54 v - - - - 30 v 9 M 77 v 40 M
& FAET 591 2 16 v - - - - 25 v 6 7 12 7 93 N
1=el0ki 1,080 7 21 v - - 1 7 31 v - - 265 v 60 M
REM 863 2 3 N - - - - 1 N 15 v 15 v 75 N
AFHET 168 2 - - - - - - 1 \ - - 12 7 22 \
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(GX2) ZRAXD T6FERMK (ha) | &, MEREBERERABE LB,
GEB)  MIMk. WHARK. WCSATE. KMAX. HMBMEMARD M6 FERM (ha) | X, REHBOREAW. £ XZ0 6 FERM (ha) | & ARBBF/DEFRBERERFICHMEMoEH (ERME) .
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ﬁ; (4R S24) 6 EEEM TEEQER 6 EERM 7 EEDER 6 EERM 7 EEDER 6 EERM 7 EEORM 6 EERM 7 EEORM 6 R 7 EEORM 6 R 7 EEORM
(ha) (GBI (ha) (B RAD (ha) (B RAD (ha) (3B RAD (ha) (3B FRAD (ha) (3B FRAD (ha) (3B FRAD
2/ 2,669 - 175 - - - 5 \ 12 N 34 7 36 N 21 \
FXHT 430 v 1 7 - - - - - - ? - - 1 N
iR RET 4 - 1 \ - - - - 10 7 7 - - 3 \
E= 3] 629 7 25 v - - 4 \ 20 \ 1 7 0 \ 1 7
Bk 892 7 27 v 4 \ - 7 3 \ 24 \ 1 7 23 \
FHE#Z LT 2,102 - 73 - 3 - - - 26 - 17 - 2 - 636 N
g 2,534 2 0 - - - - 7 22 v 63 - 50 v 118 -
MAT 655 7 - - - - 0 \ 8 \ 107 \ \ 1 -
mobhlm 1,289 7 1 7 - - 6 N 1 Y 416 Y Y 0 Y
WERT 784 - - - - - 0 v 0 v 29 v 7 0 v

GCE1) FEMRERUVEBEYNO (7FEO0ERE (HIETFERERM | (X 6 FERMELBL. [7: BNER) (1%8H%M) . M- f1FEHEAH) B 1%UR) o I EdER) (1 %8#HD) THE.
GCE2) FEMXO M6 FERM (ha) | (&, HEREBERHERHILE LB,
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